1. X is a given non-empty set of points in the plane – R2. Define an order ( on X as follows: x(y if x1(y1 and x2(y2 but x(y.
· When X is finite, describe the fastest way to find the Pareto points in X?
· Give an example for an infinite set X where number of Pareto points is 1.

· Give an example for an infinite set X where all the points are Pareto.

· Give an example of a set X where there are no Pareto points.

2. Prove that the binary relation  (  is transitive. Is its complement also transitive?

3. Prove that ≽ is complete if and only if  ≻ is weak.
4. Show that the lexicographic order does not satisfy the continuity condition.
